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- R D B AT K D HERR
— A2 = — 1/4X X 0.80% X 25 = -12.
TS A = 83.
V1 = 96.0 X 0.20 = 19.
- R VD SRE AT K B HERR
— V2 = — 1/4X X 0.8 % X 0.20 X 25 = -2
KMV = 16.

2. HL=ar v U — MR

BT
BWlLarv 7 V—FEt = 100 mm

A= (9.8 + 9.80) X 2 X 0.10 = 3.
3. ¥yLarz UJ—F
Al = 9.80 X 9.80 = 96.
- R Y HE IS & D HERR
— A2 = — 1/4X X 0.80% X 25 = -l2.
BiLarvy 7V —rXA = 83.
V1= 96.0 X 0.10 = 9.
- R Y HEHTIC & 2D HERR
— V2 = — 1/4X X 0.80°% X 0.10 X 25 = -1.
YiLary 7V —hFrEV = 8.
4. R
4-1. 1ML
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[ 2] K2 |
JERRUEt = 2 000 mm
A= (9.60 + 9.60 ) X 2 X 2.00 = 76
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A2 = 1/2X ( 5.29 + 5.29 ) X 7.86 = 41.
A3 = 1/2%X ( 5.24 4+ 5.29 ) X 1.80 + 5.29 X 0.50 = 12.

M= 1/2x ( 524 + 5.29) X 1.80 + 5.29 X 0.50 = 12
RBE Ky DN T K B PERR
— A5 = — 1/2X ( 5.29 + 5.29 ) X 1.40 = -7
— A6 = — 1/2X ( 5.29 + 5.29 ) X 1.40 = -7
b) & J#
AT= ( 0.97 + 1.42) X 2 X 0.15 X 2 = 1.
SA = 93

(3) & HE

ESEEIETE

Al = 5.06 X 8.49 = 43.
A2 = 6.46 X 0.10 = 0.
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BEES A = 96
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2.40 X 7.69 — 1.50 X 2.00 = 15.
(1 0.48 + 0.20 ) X 0.42 = 0.
3.59 X 0.70 = 2.
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1/2Xx (819 + 7.69 ) X 0.71 + 8.49 X 0.28 = 8.
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RBER O FEA = 161
[ 2] 6]
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(8) EBE = #H

[ S]] 9 |

el
Al = 0.36 + 0.36 = 0.
A2 = ( 1.40 4+ 0.79 + 0.22 + 0.13 ) X  10.80 = 27.
A3 = ( 0.15 + 0.15) X 0.29 = 0.
A =1/2X ( 0.15 + 0.15 ) X 10.80 = 1.

VSR
Al = 0.36 + 0.36 = 0.
A2 = ( 1.40 4+ 0.79 + 0.22 4+ 0.13 ) X  10.80 = 21.
A3 = ( 0.15 + 0.15) X 0.29 = 0.
A4 =1/2X ( 0.15 + 0.15) X  10.80 = 1.
REEME A = 59.

9) 1 WEHEF
A= 768 + 93.6 + 96.1 + 161.7
+ 48.0 + 11.5 + 89.4 + 59.6 = 636.
4-2. 2WMET (fHIBERH C5) EEAEEEE
A= 150 X 2.00 X 2 = 6.
4-3. BT (73> b, BEEH)

| x| X10 |

Al = 0.31 + 0.31 + 0.22 X 8.16 = 2.
A2 = 0.22 X 7.25 = 1.
A3 = ( 1.23 + 0.79 + 0.22 + 0.03 ) X 0.80 X 2 = 3.
v NS K DR
— M = —1/2X ( 0.12 + 0.11 ) X 0.40
— 1/2x ( 0.11 + 0.12 ) X 0.40 = -0.
NTXy hEA = 7
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5-1. 1%L
(1) J& hi
Vi = 9.60 X 9.60 X 2.00 = 184.
- i D SR ALIC K D 1R
— V2= — 1/4XzX 0.8 % X 0.10 X 25 = -1.
JEREV = 183,
(2) HiIBE, B
a) i HE
VI = 1/2%x{1/2X( 5.24 + 5.24 ) X 7.86
+ 1/2x( 5.29 + 5.29) X 7.86 } X 1.80 = 74.
V2 = 1/2X ( 5.29 + 5.29 )X 7.86 X 0.50 = 20.
b) & [
V3= 0.97 X 1.42 X 0.15 X 2 = 0.
TV = 95.
(3) & A&E
VI = 6.46 X 8.49 X 1.00 = 54.
V2 = 1/2X ( 0.10 + 0.10 ) X 0.48 X 6.46 = 0.
PREEYV = 55
(4) MHIEE K DR~ TF
PR ]
VI =1/2x ( 9.01 + 9.03 ) X 4.80 X 0.70
— 0.48 X 0.20 X 0.42 = 30.3
V2 = 1/2X 0.20 X 0.20 X 8.49 = 0.2
V3 =1/2X ( 8.19 X 0.20 + 7.69 X 0.70 ) X 0.50 = 1.8
V4 = 1/2X 0.70 X 0.70 X 1/3X ( 8.04 + 7.69 + 7.69 ) = 1.9
H oM
VI =1/2x ( 9.01 + 9.03 ) X 4.80 X 0.70
— 1.50 X 2.00 X 0.70 — 0.48 X 0.20 X 0.42 = 28. 2
V2 = 1/2X 0.20 X 0.20 X 8.49 = 0.2
V3 =1/2X ( 8.19 X 0.20 + 7.69 X 0.70 ) X 0.50 = 1.8
V4 = 1/2X 0.70 X 0.70 X 1/3X ( 8.04 + 7.69 + 7.69 ) = 1.9
PBER DN FEV = 66.
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(5) /XT~w b
VI = 1/2x{1/2x( 3.61 + 3.69 ) X 3.93

+ 1/2Xx( 3.61 + 3.69) X 3.93 } X 0.80 X 2 = 23.0
V2 = 0.17 X 0.15 X 0.80 X 2

4+ 1/2X 0.31 X 0.01 X 0.80 X 2 = 0. 04
V3= — 1/2x{1/2X( 2.93 + 3.23) X 0.30
+ 1/2x( 3.01 + 3.31 ) X 0.30 } X 3.93 X 2 = -7.4

NFRy REV = 15.6
6) % B
Vi=1/2X ( 0.30 X 3.30 + 0.80 X 3.80 ) X 0.50 X 2 = 2.0
V2 = 1/2X ( 0.30 X 5.46 + 0.80 X 6.46 ) X 0.50 = 1.7
ZHIV = 3.7
() T4 T RONST
ol
Vi =1/2X ( 1.40 + 5.42 ) X 6.00 X 0.50 = 10. 2
V2 = 1/2X 0.50 X 0.50 X 1/3X ( 4.66 + 5.00 + 5.00 ) = 0.6
VSR il
Vi =1/2X ( 1.40 + 5.42 ) X 6.00 X 0.50 = 10. 2
V2 = 1/2X 0.50 X 0.50 X 1/3X ( 4.66 + 5.00 + 5.00 ) = 0.6
T4 T RONFEV = 21.6
(8) EE = AH
ol
Vi = 0.36 X 10.80 = 3.9
V2 =1/2x ( 0.15 + 0.15) X 10.80 X 0.29 = 0.5
VSR il
Vi = 0.36 X 10.80 = 3.9
V2 =1/2x ( 0.15 + 0.15) X 10.80 X 0.29 = 0.5
BEEMEV = 8.8

9) 1&k=v7 VU —hEHEt
XV =183.0+ 95.7 + 55.1 + 66.3 + 15.6 + 3.7
+ 21.6 + 8.8 = 449.8
5-2. 2T (JEERE n#EL)
V = 1.50 X 2.00 X 0.70 = 2.1
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5-3. BT T
1) XXy~ (0ck=36 N/mm2)

V = 0.22 X 8.16 X 0.80 = 1.4 o
(2) BEEM (o0ck=24 N/mm2)
V = 0.31 X 0.80 X 2 = 0.5 m’
6. & @
B IX & 0
( SD345 )
R k=) T hE LY A =
%ﬁ bl E{i 1 /)’L( o /)’L( /Er\ = [} ]
D10 kg 6 6 6
D13 U 1 531 5 1 536 1 536
D16 I 10 786 62 10 848 10 848
D16 D19 I 3 927 3 927 3 927
§ D22 I 1 704 1 704 1 704
D25 D25 I 5 756 5 756 5 756
2t I 22 173 62 22 235 - 22 235
D29 D29 I 520 520 520
§ D32 I 1 083 1 083 1 083
D32 &t I 1 603 - 1 603 - 1 603
D35 ) _ —
D38 i - ~
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D16+D16 | » Ff 56 56 56
AT | DI9+D19 | » - -
it U 56 - 56 - 56
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| x| X11 |

h = 2000 m
R R% h = 30.0m
A= (1.8 + 11.8) X 2 X 2.0 = 94.4 Hn®
(2) # &
| 2| X12 |
Rk E R h=1/4X ( 16.608 + 16.573
+ 16.608 + 16.573 ) — 6.470 = 10.121 m
YRR h = 30.0m
A= 2+ 1001 4+ 14.2 + 4.9 + 4.7 + 4.9
+ 1.6 + 4.3 + 1.6 + 4.3 ) X 10.1 = 654.5 #Hn’
(3) RHGLEGFE
YA = +  654.5 = 749 Hhn®
A2-15
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8. X f& LT

(1) ™ R
BN IETEN
R EE h = = 8.493
LAy -NE ¢ = = 0.500
h=30.0m , W=40kN/m2 , < SUO¥EAFMGET
VI = 6.5 X 3.8 X 85 — 3.7 (ZHav) = 206.3

(2) 73T~y MR

IESEENIETEN
R ES h =1/4X (. 3.241 + 2.932 + 3.319 + 3.010 ) = 3.126
Fgasp)-NE ¢ =1/2x ( 0.380 + 0.679 ) = 0.530
h<4.0m , W=40kN/m2 , N A7 $K -pLHET
VI = 1/2x{1/2x ( 3.2 + 2.9 ) X 0.3

+1/2Xx( 3.3 + 3.0 ) X 0.3 } X 3.9 X 2 = 7.3
@) var”r
| 2| X14 |
s SY L BE S
Rk EE h =1/2X ( 7.593 + 3.593 ) = 5.593
Wra ) -NE t =1/2Xx ( 1.400 + 5.418 ) = 3.409

X0 RTINS 23W>80kN/m2 & 72 578, xEMRAZRELT52 LIk,
 EUVHELTIET (A40kN/m2<W=80kN/m2) & L C¥&E%3 45,
Viz V2=

i W= (102 4+ 06 ) X 245/ 6.0 = 44.1 kN/m2
W=80kN/m2 & 72 % #% [E &
B =44.1/ 80.0 = 055 m = 0.60 m
Vi = 1/2X( 7.6 + 3.6 ) X 6.0 X 0.6 X 2 = 40. 3
(4) ZPRTEF
h=30.0m, W=40kN/m* < S&UHEAMET

=

i
=

i
=

YV = = 206 Z#m
h=30.0m, 40kN/m2<W=80kN/m2 , < ZU¥EAZMHRL
LV = = 40 Zm
h<4.0m , W=40kN/m2 , N A7 K —-PEERT
LV = = T ZEm
A2-17
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9. SUKFARE T

| 2B | X15 |

(1) Z&FkE n = 2 &P
(a) MIfEZUME ¢ 175

L =087 X 4 X 2 = 7.0
(b) — Bl
A= (070 + 1.15 )X 2 X 0.03 X 2 = 0.2

10. 27— bk

| 2| X6 |

Al = 1/2X ( 2.93 + 3.01 ) X 3.93 X 2

+ ( 0.38 4+ 0.42 + 1.00 ) X 17.86
+ 0.17 X 0.15 X 2 + 1/2X 0.31 X 0.01 X 2 = 37.5
A2 = 7.86 X 1.80 — 1.00 X 0.55 X 2 = 13.0
A3 = (097 + 1.42) X 2 X 0.156 X 2 = 1.4
A4 =1/2X ( 4.67 + 4.67 ) X 1.30
+1/2x ( 1.05 + 1.00 ) X 1.50
— 1/2% ( 2.94 + 3.25 ) X 0.30 = 6.7
A5 = 1/2X ( 4.67 + 4.67 ) X 1.30
+1/2x ( 1.05 + 1.00 ) X 1.50
— 1/2% ( 2.94 + 3.25 ) X 0.30 = 6.7
A = 65.3

11. K&/ %147 (VP$100 )

| 2| X117 |

n = 3 @&
L = 2.31 X 3 = 6.9

A2-19
22




| 2| X188 |

/AN
e =

TERR 500 mm
(1) A
Al = 0.42 X 6.44 = 2.7 m
A2 = 3.30 X 5.46 = 18.0 m
JHRE A = 20.7 m*
(2 =27 Y—F
V = 6.44 X 4.28 X 0.50 = 13.8 o’
B) Tovh—Fx v/ ( SS400 PL — ¢ 60X3.2 ) N = 12
1/4X £ X 0.060% X 7850 X 0.0032 X 12 = 0.9 kg
(4) HANRAL T SGP (40A)
LRE A = 9.4 kg
(5) F& 8
1/4X X ( 0.040% X 0.200 — 0.022% X 0.150 )
X 1530 kg/m® X 12 = 3.6 kg
6) X & (=4 ) EHRLY
A = = 1.4
(1) B # & (EFHKED )
t = 20mm
A= 6.02 + 3.44 = 9.5 m’
t = 10mm
A = = 7.0 o’
®) fr/N—hrarr—Fk
V = 1/2X 4.28 X 0.04 X 6.42 = 0.5 n’

A2-21
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13. B # KX

| 2| X119 |
FEHMREL = 400 mm

(1) 7
A = 6.84 X 0.40 = 2.7
(2) =227 J—Fh
V= 6.8 X 6.00 X 0.40 = 164 o’
(3) &
LA - 0 ( 8D345 )
L <t & i 4
| —
" R ] XN 7=
D10 ke 7 7
D13 y 694 694
D16 ]
D16 D19 i
§ D22 N 452 452
D25 D25 I 1 160 1 160
2} I 1 612 1612
D29 D29 i
§ D32 I
D32 o )
= s N 2 313 2 313
@ 7oh—%y o7 ( SS400 PL —$60X3.2 ) N = 13
1/4X 7 X 0.060 % X 7850 X 0.0032 X 13 = 0.9 kg
(B) TANRALZ SGP (404)
BAR X LD = 10.1 kg
(6) F& HH #
1/4X X ( 0.0402% X 0.200 — 0.0222 X 0.150 )
X 1530 ke/m’ X 13 = 3.9 kg
(N X & (=Fx)
A = 6.84 X 0.20 = 1.4 n’
8 H # # (EHHELD )
« t = 20mm
A = 2.05 + 2.74 = 4.8 m’
« t = 10mm
A = = 4.8 n’
(9) ZEAmERFL (BEH) ¢80
n = = 12 4T
A2-22
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14. £ T

(1) K 4 Y
< A FEBE
V = 14.0 X 14.0 X 2.9
(2) = L
- L B (W,=4.0 m )
VI = R#ED L& KD
— V2 = HEpM kY
—V3=%Larrs7IU—F&D
— V4= JER=> 7YV —HFED
— V6 = ka7 VU —hK&D
=— 7.9 X 7.1 X 0.6

(3) &t
HELOL&EZ(IFE C= 0.9

V = 568.4 — 321.6 / 0.9
(4) FmfE
A = EPM LY

(5) AsHlizERZE:
A= 14.0 X 14.0

15. )T

| 20| %120 |

= 568.

= 568.

= -19.

= -184.

= -33.

W O DN

HMELEV = 321

= 211,

= 83.

= 196.

A2{zFFU T HER
e L) B =
Ja— " £ 2 IAMvER| = & O
(mm) (kg)
xR \'E:] 12000 913.200 124195
CNa—+— 12000 912.000 3648
127843k g

25




16. & #ff it
[ 22X [ X021
[X]22
(1) #t
H g 0 Sl S AT
e ¢800 | REMHE L = 46.5m | A% n = 25 K
IR, #T1AR%4DY
(2) #iE E=
S S o = HANE & = iy
(mm) (mm) (kg/m) (kg)
I #t SKK400 14 6 500 271 1 762
kil SKK400 9 2 000 176 352
k2 SKK400 9 8 000 176 1 408
ks SKK400 9 10 000 176 1 760
i SKK400 9 10 000 176 1 760
T #t SKK400 9 10 000 176 1 760
it 46 500 8 802
(3) HE TR 5
FEE AU 1R
ik (XLlk®w 2 - PL 25 X 12 X 2353 )
0.025 X 0.012 X 2.353 X 780 X 2 = 1.1
AVIEDHA Ny /8— (Abhw/%—6 —PL25 X 9 X 50 )
0.025 X 0.009 X 0.050 X 780 X 6 = 0.5
( 6
AVUIED ) v T EER
T X 0.772 X 2 = 4.9
B85 M R a5
- NN (SS400 4 - PL 50 X 4.5 X 2443 )
0.050 X 0.0045 X 2.443 X 7850 X 4 = 17.3
*c Abhy— (SS400 24 - PL 6 X 20 X 30)
0.006 X 0.020 X 0.030 X 7850 X 24 = 0.7
S TANVAN (SS400 4 - PL 50 X 12 X 2551 )
0.050 X 0.012 X 2.551 X 7850 X 4 = 48. 1
FLA A o
- ffigRoN R (SS400 1 - PL 300 X 12 X 2551 )
0.300 X 0.012 X 2.551 X 7850 X 1 = 72.1
- SR A TRIA R R
T X 0.800 X 2 = 5.0

kg

kg
& )

m

kg

kg

kg

kg

m

A2-26
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(4) AFCHEAH SR EK A7

D35 (SD345) = = 458 kg
D13 (SD345) = = 49 kg
(5) ka7 —h
V = 1/4X 72X ( 0.800 — 0.014 X 2 ) *X 1.420 = 0.7 nm
(6) HIGHkF 4 i
(7) LGikT 1
(8) #it HI
7 H O N{E @ J&g/&E (m) DOX® g B
REME 1 0 1.23 0. 00
REME 1 0 3. 60 0. 00
e+ 1 1.25 1.25
WYE + 12 9.95 119. 40
& Rt 3 1. 60 4. 80
Xy |WE+ 12 1. 10 13. 20
BRI 1 5 2.90 14. 50
WYE + 12 5. 80 69. 60
REPE A 6 12. 20 73. 20
WYE + 24 8. 30 199. 20
WYE + 46 1. 05 48. 30
& B 48. 98 543. 45
CMETNG =20 gy
48. 98
9) #EHIEt ( 2EsE )
« RGP
V = 1/4X 1 X 0.80 2 x 21.53 x 925 = 270.6 n’
I
V = 1/4X 7 X 0.80 2 X 27.45 X 25 =  344.9 n’

A2-27
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A2BERFULT MRREIHE

(1) mPa4X
R AR IV EY
(2) m K
L = 12000 m
(4) HAE
L = 12000 m

(5) ®KNIE

NfE= 23
(6) %8
N = 140 S

(7)  HUMFERT

mN

(8) ITARRERUMEFEHNE

R H26B-13
ToF | £E | NfE | BEL| NxL 5%
1 Bn 1.215
2 Ac 3.600
3 [Asi-T[ 1 1.250 1.250
4| AsT-3 | 12 | 5935| 71220
5
6
7
g
9
70
ik
12
i 12000 | 72470
IEFHNTE 6.0

X &mANE 30
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TITHERFFEX

I iE 2 A G| R ® ==X v2 = s &
BRET
{EHIT
HEHI =T iEEI m3 1192.3
T EER m3 1192.3
BT T
AfReEt+ Bt m3 1739.6
T EER m3 1739.6
HEBENBET
TSR VET
7IN NIV RC-40 m3 857.0
EfET
—#= ¢ 1000mm 7N 190
HEERL=75
BT HINEw=0.15t/m & 60
B RKL=39.5
BT HINEw=0.15t/m PN 99
HEERL=75
BT a B IEw=0.15t/m N 31
{RE&T
BHEEXI SR T
AMYRIREE |hEEfL B 1
RBFEZRS
RBEEZ(E = 1
HBeRERE
BitiEEE
TERER | AEvOLBEHAR| BE 1 144K
ETAREREE
SET AR
800 x 800 ® 6 6T
ayk
@ 19mm=L=1.0m AN 1m X 6 =67
REE
®40 L=1000 PN 2m X 6=124
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TR - BRMBER

[A&#R : No.2 - No.5)
(m) (&) (L=1. Om) (&) i
No. 2 0.7 3 3
No. 5 0.7 3 3
RigE+
A2B 4 i35
& § 6 6
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WBEBIRHRERHE

5 a5 & ==K s = i
M BE T —& ¢ 1000mm BB EL=75~39.5m PN 190 | =
HEID HERL=7.5 M Ew=0.15t/m & 60
BHREIOGER) WEEL=395 FMBwW=0.15/m & 99
WMERTI a W B EL=75 HEMNEwW=0.15t/m V. 31
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RN RHETES

12 A1l - #8 Al Rig g & K % =
R T
ERHRIO
WEAHIN - KFHBHRIFERLY = 60 A&
602~ -2 = 300 vk
A7) —RFEEEENET
TAURE @ 1000mm —Ef 1.50m2
HE&K:7.5m
R INE :100kg/m3
W = 30twhk X 1.50m2 X 7.5m X 100kg/m3 =| 337500 ke
= 338 t
= 0.15 t/m
ERHRIO
R |mpisf|N - aBeENEITERLY - S
992 = 495 4k
A7) —RFEEEENET
TAVRE @ 1000mm —Ef 1.50m2
HE&K:39.5m
R INE :100kg/m3
W =495tk X 1.50m2 X 39.5m X 100kg/m3 =| 2932875 kg
= 2933 t
= 0.15 t/m
HBENERET a
BWEAHIN - KEHBARITFERLY = 31 XK
31AR+2 = 155 twb
A —REEBEENET
TAURE ¢ 1000mm —&H 1.50m2
HEERK:75m
#INE :100kg/m3
W =155tvk x1.50m2 X 7.5m X 100kg/m3 = 174375 kg
= 174  t
= 0.15 t/m
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